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HATEW 4

HARWATIE ZGED BYERA, SAZE EVWCIH530D
W H&DE VED ZBAT KfEdLy,

Mondai yon

Mondai yon dewa, e nado ga arimasen. Bun o kiite, ichi kara san no naka kara, ichi-ban ii mono o hitotsu

erande kudasai.

Question 4

For question 4, there aren’t pictures or other materials. Listen to the sentence, and choose the one

best answer from 1 to 3 please.

(1] %,: 35 —&F WS TTA,
B:1 U-29TH,
2 13w, ¥z,
3 LWWZ, —HFL»RNWTY,

ROMAJI

Onna: Mo ippai ikaga desu ka.
Otoko: 1 Kekko desu.
2 Hai, dozo.

3 lie, ippai ja nai desu.

ENGLISH

Woman: How about one more cupful?
Man: 1 (I'm) fine.

2 Yes, go ahead.

3 No, (I) don’t have a cupful.

The correct answer is #1-F>Z 3T .

The woman is using \\)*7" (ikaga, how) the polite form of ¥ 9 (d6, how) to offer another cup of
something. You can use 17529 (kekko, sufficient or fine) to politely refuse an offer.

Answer 2 is used to offer something to someone.

(2] B TnFHA, BELRYE LI
i1 B¢ ORF LA

2 RXRTT L. BT 2 HaN

3 Io=THH4,

EXxF LI

BHHS.VWBIEA W
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ROMAJI

Otoko: Sumimasen, osoku narimashita.

Onna: 1 Hayaku kimashita.
2 Daijobu desu yo. Watashi mo ni-fun mae ni tsukimashita.
3 Yokatta desu ne.

ENGLISH

Man: Sorry, (I) arrived late to the meeting.
Woman: 1 (I) came early.
2 (It's) okay. I arrived 2 minutes ago.
3 That's great.

The correct answer is #2- K3XRTI &K, b 293milc HEFL:.

The man is apologizing for being late, and the woman forgives him by saying it was okay and that
she was late too. Although it might be true that the woman came early, answer 1 really isn’t the

most appropriate response here. We can say ‘ X7*>7=TC ¥ 42’ when something good happened. But
being late to a meeting isn’t so good.

(3] 4@ KfEfElE Y I TEA,
Fi1 #HERIT AVWTT L
2 154 T $%F,
3 BT ZlIiT U ET,

ROMAJI

Onna: Taishikan wa doko desu ka.
Otoko: 1 Yubinkyoku wa chikai desu yo.
2 Jago-fun de arukimasu.

3 Ginko no soba ni arimasu.

ENGLISH

Woman: Where is the embassy?

Man: 1 The post office is close.
2 (I) walk for 15 minutes.
3 (It) is close to the bank.

The correct answer is #3- 8817 ZIic HYVFT .

The woman is asking where ( ¥’ Z , doko) the embassy is, so we are looking for a location. Answer
3 gives us a clear location. Answer 1 gives us the relative location of the post office, but we want
to know where the embassy is. Answer 2 tells us how long ( ¥® {5\, dono gurai) it takes to walk
somewhere, but we asked about location.
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F:ab—% 20K LFLED,
i1 HUNLI, LHLCBENLET,
2 HH, Wz, 10KEHLE LA,
3 13w, FELET,

ROMAJI

Otoko: Kopii o nija-mai shimashita ka.

Onna: 1 Arigato. Yoroshiku onegai shimasu.
2 A, iie. Ji-mai dake shimashita.
3 Hai, mada shimasu.

ENGLISH

Man: Did (you) make 20 copies?

Woman: 1 Thanks. Thank you for your hard work.
2 Ah, no. (I) only made 10 copies.
3 Yes, still going to do it.

The correct answer is #2- 3., L\NZ, 10 #F21FLELE: .

The man is asking if the woman made the 20 copies. Although this is a yes or no question, answer
2 is the best answer because she is giving more information about the number of copies she made.
Answer 1 is something you would typically say after someone has approved a request you made.

A TaE—% 20Fv LTLEIN, ]
“Kopii o nija-mai shite kudasai.”
“Make 20 copies, please.”

B Tixuy, |
“Hai.”
/Iokay'l/

A THYNLI, IALBRIMNLET, ]
“Arigat6. Yoroshiku onegai shimasu.”
“Thanks. Thank you in advance.”

In answer 3, the woman says yes that she completed it, but then says she is still doing it, so she
hasn’t actually completed it. She could say something like the following.

Wz, FELTWERA, ]
“lie, mada shite imasen.”
“No, (I) haven’t yet.”

(5] %: BXEY EFTHh,
1 3w, EFTH4,
2 HUNLITXNET,
3 BAET HLT (X0,
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ROMAJI

Onna: Nihongo ga jozu desu ne.
Otoko: 1 Hai, jozu desu ne.
2 Arigato gozaimasu.
3 Nihongo de hanashite kudasai.

ENGLISH
Woman: (Your) Japanese is good, isn'’t it?
Man: 1 Yes, (my) Japanese is good, right?
2 Thank you.
3 Speak in Japanese, please.

The correct answer is #2- BV HESTEVET .

The woman is complimenting the man on his Japanese and the man thanks the woman for the
compliment. Answer 1 is not the best answer because it is not common to make a comment like this
about yourself.

(6] 4: %% EnILEL 13V, Yi2,

Fi1 BREWLIET,
2 k\l‘\i_\ /-E‘ni Lf:cto
3 HYNLITINET,
ROMAJI

Onna: Enpitsu o wasuremashita ka. Hai, dozo.
Otoko: 1 Onegai shimasu.

2 lie, wasuremashita yo.

3 Arigato gozaimasu.

ENGLISH

Woman: Did (you) forget your pencil? Okay, here (you) go.
Man: 1 Please.

2 No, (I) forgot.

3 Thank you.

The correct answer is #3-BYHESITEVET .

The woman confirms that the man forgot his pencil, and then offers him one. The best response to

this is to thank the woman. We can use 3422\ L £7, when we make a polite request to someone.
The man didn’t request the pencil though. Answer 2 doesn’t make sense because the woman already
knows the man doesn’t have a pencil.
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Fil WoThboL Py,
2 Zb52%,
3 BOZUYLEN,
ROMAIJI
Onna: Itte kimasu.
Otoko: 1 Itte rasshai.
2 Kochira koso.
3 Okaeri nasai.
ENGLISH
Woman: I'm off to work. (lit., I am going and coming.)
Man: 1 Have a nice day.

2 Same here.
3 Welcome back.

The correct answer is #1- L > T5> L » LY.

This is a pair. When someone says ‘\\>T X £, the proper response is almost always going to be ‘1 5

Listening S4 Answers and Scripts

ThHoL»W . Answer 2, - 2H 5 2% 7 is said when meeting people for the first time.

A

Answer 3,

A

8] B:
4

[LAL(BRANNLET, ]

“Yoroshiku onegai shimasu.”
“I'm looking forward to working with you.”

[2b52%, JALL(BRIWLET, ]

“Kochira koso. Yoroshiku onegai shimasu.”
“Same here. I'm also looking forward to working with you.”

[_ f: 73 WY i ) J
“Tadaima.”
“I'm back.”

[ENZ Y0, |
“Okaeri nasai.”
“Welcome back.”

WBE Y ITH
SR I
WE Y £,
WE Y £,

(BN
1 8BFET
2 3RS
3 Hr304T

BN ZY X, is used when someone returns to a place.
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ROMAJI

Otoko: Nan-ji ni hajimarimasu ka.
Onna: 1 Hachi-ji made hajimarimasu.
2 San-ji-kan ni hajimarimasu.
3 Ato sanjuppun de hajimarimasu.

ENGLISH

Man: What time does (it) start?

Woman: 1 (It) starts until 8:00. (incorrect Japanese)
2 (It) starts at 3 hours. (incorrect Japanese)
3 (It) starts after 30 minutes.

The correct answer is #3- &% & 30 2 HRIFEVET .

The question is asking ‘ ffBF ’ (nan-ji, what time) so the answer needs to be a specific time. Answer 3
gives us a time 30 minutes from now. Answer 1 is talking about an activity that lasts until 8:00. But,
we are asking about a start time. Answer 2 is a period of time.

(9] B: BHIAL CRETT,
11 3w, Uk,
2 BLWATT,
3 7—7)D #HLIZ FZIo5TWBATTY,

ROMAJI

Otoko: Nishimura-san wa donata desu ka.
Onna: 1 Hai, arigato.
2 Tanoshii hito desu.
3 Téburu no chikaku ni tatte iru hito desu.

ENGLISH

Man: Who is Mr. Nishimura?
Woman: 1 Yes, thank you.
2 A fun person.
3 The person standing next to the table.

The correct answer is #3- 7—27Jb®D ELIC ITH>TWBATY .

¥'75 7= (donata, who) is a very polite way to ask ‘who’ in Japanese. Answer 1 is obviously not
answering that question. Answer 2 is talking about the kind of ( ¥’ A/7% , donna) person Mr.
Nishimura is. Answer 3 describes the location of a person that we can assume is Mr. Nishimura.

B XonriAN” 1 ZLVnTT o,
1 NEAY TERTTL
2 RESTHBLDE (EX0,
3 13w, NMETAD I ZLWTT,
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ROMAJI

Otoko: Dono kaban ga hoshii desu ka.
Onna: 1 Kaban ga suki desu yo.
2 Okikute kiiroi no o kudasai.
3 Hai, kaban ga hoshii desu.

ENGLISH

Man: What kind of bag do (you) want?
Woman: 1 (I) like bags.

2 A big yellow one please.

3 Yes, (I) want a bag.

The correct answer is #2- XEL TEBLDE TV,

The man is asking which ( ¥®, dono) bag the woman wants. Answer 2 describes a bag that the
woman would like. Answer 1 and 3 don't really answer the question.

1] B: 48 E—1L% HKHFTL LI,
1 AR RAEIED,
2 WWZ, T4 0% BRATWET,
3 brio¥ WEARLWTT,

ROMAJI

Otoko: Kyo biiru o nomimasho.

Onna: 1 Nanbon nomimasu ka.
2 lie, wain o nonde imasu.
3 Chotto isogashii desu.

ENGLISH

Man: Let’s drink beer today.

Woman: 1 How many are you going to drink?
2 No, (I) am drinking wine.
3 (I) am a little busy.

The correct answer is #3-B5&2& WZHLWTY .

The man is inviting the woman to drink. She can either accept or decline the offer. In answer 3, she
politely refuses, giving an excuse — she is busy. In answer 1, the woman is asking how many he is
going to drink, but she hasn’t accepted the offer yet. In answer 2, the woman is telling him she is

drinking wine now.

2] B: 3-8 B LTLEXN,
Fi 1 THERA. Brot BOTT LA,
2 BEEWLET,
3 RLTHA,

499



Listening S4 Answers and Scripts

ROMAJI

Otoko: Motto hayaku shite kudasai.

Onna: 1 Sumimasen, chotto osoi desu yo ne.
2 Onegai shimasu.
3 Hayai desu ne.

ENGLISH

Man: Do it faster please.

Woman: 1 Sorry, (I) am a little slow, aren’t 1?
2 Please.
3 (You) are fast, aren’t you?

The correct answer is #1- §HF A, B&2&E EBLTIT LA,

The man is making a request for the woman to hurry up. The best response is for her to apologize

(T4 FEHA , sumimasen, sorry) and acknowledge being a little slow. Answer 2 can be used when
making a polite request. In answer 3, it sounds like she is saying he is fast.

13] % : z0F@E0 KliF WHTT,
B:1 hlx 10T,
2 ZhIE 10 AT,
3 ZHlE 1,200 BT,

ROMAJI

Onna: Sono chairo no hon wa ikura desu ka.
Otoko: 1 Kore wa jussatsu desu.

2 Kore wa juppon desu.

3 Kore wa sen nihyaku-en desu.

ENGLISH

Woman: How much is that brown book?
Man: 1 These are 10 books.
2 These are 10 cylindrical object.
3 These are 1,200 yen.

The correct answer is #3- Zhls 1,200 Y .

The woman is asking ‘how much’ ( \x<{ 5 , ikura), so the best answer is some kind of price. Answer
3 is the only answer with a price. Answer 1 is talking about 10 books, but no price. And answer 2 is

using the wrong counter. & (hon) is used for long cylindrical objects like pencils or bottles.

% AHIT TERET.
1 dn, LAl
2 =EWE,
3 Y94,
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ROMAJI
Onna: Kaigi ni ikimasu.
Otoko: 1 Hai, yoroshiku.
2 Tadaima.
3 Domo.

ENGLISH

Woman: (I) am going to the meeting.
Man: 1 Okay, good luck.

2 I'm back.

3 Thank you.

The correct answer is #1- &Ly, £KBL< .

The woman says she is going to a meeting. The man acknowledges it with {34\, and then adds XA
L <, which is short for XA L<{BHH L 7. You can use this as a way to thank someone for their
hard work or encouraging them to do hard work. 7=72\ % is used when you return to a place. ¥ %,
when used by itself, is short for ¥’ 9 £ H 1AL H TX W EF (domo arigatd gozaimasu, thank you very
much). It sounds strange here because she hasn’t done anything for him yet.

15] % : BHAEBBHTY I TXNET,
Bl 252 %,
2 YIZ,
3 HYNLI,

ROMAJI

Onna: Otanjobi omedeto gozaimasu.
Otoko: 1 Kochira koso.
2 Dozo.

3 Arigato.

ENGLISH

Woman: Happy birthday!
Man: 1 Same here.
2 Here you go.
3 Thanks.

The correct answer is #3-H YW HES .

The woman wishes the man ‘happy birthday.” The most appropriate response to this is to say
‘Thank you’. Answer 1, 255 2%, is used to express the fact you feel the same way when you meet
someone for the first time. Answer 2, ¥ 9 %, is used when you offer something to someone.
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Y XN ATEEWTTH,

B:1 304 »»ryYFET,
2 EET 1Tx%,
3 2B YInNEy T3/ RWTT,
ROMAIJI

Onna: Doko e ikitai desu ka.
Otoko: 1 Sanjuppun kakarimasu.
2 Densha de ikimasu.
3 Kyo wa doko e mo ikitaku nai desu.

ENGLISH

Woman: Where do (you) want to go?
Man: 1 (It) takes 30 minutes.
2 (I) am going by train.
3 Today, (I) don’t want to go anywhere.

The correct answer is #3- S HIE ETANE TERLLEWVWTT .

The woman is asking where ( ¥'Z , doko), so we would normally look for a location. Answer 3 is not
a location, but more of a response. He doesn’t want to go anywhere. Answer 1 is talking about a
length of time. And answer 2 is talking about how he is going, not where.
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